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7. If a rectangle has a length of (3x +5}) and a width of (x — 2), what is it's perimeter? ? =
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8. What is the range of the function f(x) =-2x +10 when the ddmain is {- 4 -1, 0, 2}? 2
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9. What is the range of the function f(x) = 3x*+4 when the domain is {-4, -1,0, 3}
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10. Jessie bought items for his pool party. He purchased x bags of chips at $3.50 each and vy liters of

soda at $2 each. He had less than $30jto spend. What is a reasonable nu_mber of bags of chips and

1 52 each.
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Systems of Equations:

11. Match the systems to their solution
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12. Write the system fhat could be used to ?@we the following t-shirt companies:
*T-Right costs $40 for set-up and $2.50For each extra shirt Q. cOS+

*Shirts-R-Us costs $60 for set-up and $1.50 for each extra shirt 51 F=SIRrTS
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13. Describe the difference of a quadratic function with a positive coefficient of x* to a negative one.
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14, Which of the following quadratics would be wider? y=-3x2 or! y= -lxz}
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15. What is the vertex of the parabola whose function is y = -x* +4x +5 ? < g ] Ci}
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16. The graph shows the flight of a rocket: a. How much time€lapsedwhile the rocket if . |
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